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HkkxHkkxHkkxHkkx – I (PART – I) 
c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL= (CHILD DEVELOPMENT AND PEDAGOGY) 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %     f uEu fy f[ kr iz'uk s a d s m Ù kj ns us d s f y,     l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A     
Direction :  Answer the following questions by selecting the most appropriate option. 

1. fu Eu fyf [k r es a l s d kS u-lk ,d  dF ku 
fu ns Z'k u d h fo'ks "k rk vk s a , oa çÑ fr ds la nH kZ 
e s a xyrxyrxyrxyr   d F k u gS \ 
(1) f uns Z'ku  fd l h O;f Dr d ks [ kq n d ks 

l ek; ks f tr d ju s es a l gk ;r k d juk  gSA 
(2) f uns Z'ku  v kRe f n'k k e s a O; fDr ds 

f od k l d ks c <+ ko k ns uk  gSA 
(3) f uns Z'ku  ds o y v U ; d s ç;k lks a ds 

e k/; e ls O ;f Dr Lo ;a d h enn d ju k 
gSA     

(4) f uns Z'ku  fd l h O ;f Dr d k s v iu k LF kku 
Lo ;a çkI r d jus es a lgk; rk  d ju k gSA 

  1. Out of the following which one is 
the wrong statement in context of 
characteristics and nature of guidance ? 

(1) Guidance is assisting the 
individual to adjust himself. 

(2) Guidance is promotion of the 
growth of the individual in self 
Guidance. 

(3) Guidance is helping the 
individual himself through 
others efforts only. 

(4) Guidance is assisting an 
individual to find his place. 

2. ^ , d  çd k j d k f pa ru ft les a vuqH ko 
d s lk F k la os nuk  dh O ;k [; k d h tk rh  gS* ] 
D;k  d gy krh  gS \ 
(1) ijko rZ d  fp a ru 

(2) v o/kk j. k kRe d  fpar u 
(3) l ` tuk Red  fpa r u 

(4) v k yks p ukRed  f pa ru 

  2. A type of thinking in which one's 
interpret sensation with experience is 
known as what ? 

(1) Reflective thinking 

(2) Perceptual thinking 

(3) Creative thinking 

(4) Critical thinking 

3. fu Eu fyf [k r e s a ls d kSu-lk  ,d  d F ku 
H kk ou kv k s a dh  f o'ks " kr kv ks a d s lUnH kZ es a xyrxyrxyrxyr  
d F k u gS \ 
(1) l a os x H k ko uk v ks a d s v k /kk j gks r s gS aA 
(2) H k ko uk, ¡ tUetkr gk s rh gS aA 
(3) l e; d s lk F k H kk ou k, ¡ iq jk u h iM + t kr h 

gS a v k S j o s v iuh fLF k fr H k h  c ny ns r h  
gS aA 

(4) T; knkr j tk uo jks a e s a Hk ko uk ,¡ ugha gks rh  
D; ks a fd  mud s ikl d ks bZ c kSf) d  le > 
u gh a gk s rh gSA 

  3. Out of the following which one of 
the statement is wrong in context of 
characteristics of sentiments ? 

(1) Emotions are the basis of 
sentiments. 

(2) Sentiments are innate. 

(3) Sentiments get older with the 
passage of time and they may 
even change their state. 

(4) Most of the animals do not  
have sentiments because of they 
do not have intellectual 
comprehension. 
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4. O; ogk j d k v /; ;u  d jus d s f y, lc ls 
iq jkuh  f of /k d k S u-lh  gS \ 

(1) ç;k s xk Re d  f of /k 
(2) u S nk fu d  fo f/k 
(3) e uk sH kkS f rd h  f of /k  
(4) v k Ref ujh{k . k fo f/k 

  
4. Which is the oldest method for the 

study of behaviour ? 

(1) Experimental method 

(2) Clinical method 

(3) Psycho-physical method 

(4) Introspection method 

5. fu Eu fyf [k r es a ls d kS u-l h ,d  v ijk/kh 
c kyd  d h  f o'k s "kr k u ghau ghau ghau gha      gS \ 

(1) f o| ky; lEifÙ k d k s u "V d ju k 

(2) /k ed h  ns u k ,o a migkl d juk  

(3) l rku k     

(4) 'k jh j jpu k es a , LF ks fud 

  
5. Out of the following which one is 

wrong characteristic of Delinquents ? 

(1) Damaging school property 

(2) Bullying and mockery 

(3) Torturing 

(4) Aesthanic in constitution 

6. fu Eu fyf [k r es a ls d kS u-lk , d  c . Mq jk }k jk 
çnÙ k  v f/k xe  fl ) kUr  d s v Ur xZ r 
v o yks d ukRed v f/k xe  gsr q l ghl ghl ghl gh  r kf dZ d 
Ø e  gS \ 

(1) v o/kk uk Red  → /k kj. kk Red  → 
v f H kçs j. k kRe d → mRik nu  

(2) v o/kk uk Red  → v fH kçs j. kkR ed  → 
/k kj. kk Red  → mRik nu  

(3) v f H kçs j. k kRe d  → v o/kku kR ed  → 
/k kj. kk Red  → mRik nu     

(4) v o/kk uk Red  → /kkj. kk Re d → mR ik nu 
→ v fH kçs j. kkR ed  

  
6. Which one of the following is the 

correct logical order of observational 

learning process according Learning 

Theory of Bandura ? 

(1) Attentional → Retentional → 
Motivational → Production 

(2) Attentional → Motivational → 
Retentional → Production 

(3) Motivational → Attentional → 
Retentional → Production    

(4) Attentional → Retentional → 
Production → Motivational 

7. ; g fd lus d gk fd  ^ ^O; fDrRo tUe tkr 
v kS j v ftZ r ço ` fÙ k ;ksa d k  ; ksx gS* * \ 
 

(1) e kW f VZ u  f çUl (2) v k W yiks V Z 

(3) o s ys u Vh u (4) d S Vs y 

  
7. Who stated that "Personality is the 

sum total of innate and acquired 

dispositions" ? 

(1) Mortin Prince (2)  Allport 

(3) Valentine  (4)  Cattell 
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8. fu Eu fyf [k r es a ls d kS u-l k fo d kl  d s la nH kZ 
e s a v l R ;v l R ;v l R ;v l R ;  d F ku  gS \ 

(1) f od k l es a ifjor Z u fu fgr gks r k gSA 

(2) f od k lk Red  iS Vu Z v iw o kZ u q es; gks r s gS aA 
 

(3) v k jf EH kd  fo d kl ] i'po rh Z fo d k l d h 
r q yu k esa T;k nk  l a d Viw . kZ gksr s gS aA     

(4) f od k l if jiDor k ,o a v f/k xe  d k 
m Rikn gk s rk  gSA 

  8. Which one of the following is false 

statement in context of Development ? 

(1) Development involves change. 

(2) The development pattern is 

unpredictable. 

(3) Early development is more 

critical than later development. 

(4) Development is the product of 

maturation and learning. 

9. yM + fd ; k¡ 'k kjhf jd  :i ls yM +d k sa ls Js "B 
gks r h gS a % 
(1) 'k S'k ok oLF k k es a 
(2) m Ù kj ck Y; ko LF kk  e s a 
(3) iw o Z c kY; ko LF kk e a s     
(4) f d 'kk sjk oLF k k ea s 

  
9. Girls surpass boys physically in : 

 

(1) Infancy 
(2) Later childhood 
(3) Early childhood    
(4) Adolescence 

10. fu Eu fyf [k r e sa ls d kS u-lh ,d  fo "k;-oLr q 
le xz o knh  eu ks o S Kk fud ksa d s v /; ;u  {ks =  d h 
gS \ 
(1) l a Kku kR ed  çfØ ; k, ¡ 
(2) p s ru k 
(3) l Eiw . k Z :i ls eku fl d  v kSj O; ogk fjd  

çfØ ;k, ¡ 
(4) v f LrRo d s rjhd s vk Sj leL;k ,¡ 

  
10. Out of the following which one is 

the subject matter for study of 

Gestalt Psychologist ? 

(1) Cognitive processes 

(2) Consciousness 

(3) Mental and behavioural 

processes a wholes 

(4) Modes and problems of 

existence 

11. yM + fd ; ks a ds fir` çs eH kk o d k s Ý k ;M  us 
fd lls lEc ks f /kr f d ;k  gS \ 
(1) v k s Mhil H kk ou k xz fUF k 
(2) bys DV ª k H kko uk  xz f UFk 
(3) Lo çs e H kko uk     
(4) f uH kZ jr k d h H kk ou k 

  
11. What did Freud consider the paternal 

love of girls ? 

(1) Oedipus complex 

(2) Electra complex 

(3) Narcissism 

(4) Feeling of dependence 
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12. d H k h-d H kh çfrH k k'kk yh e kr k-f ir k d s c Pps 
v ius ek rk-f irk d h  r q yuk  e s a d e  c q f)  ds 
lk F k tUe ys r s gS a vF k ok  bld k  Bh d  m YV k 
gks r k gS] ; g oa'k kuq Ø e d k d k S u-lk  fu ;e 
d gyk rk  gS \ 

(1) çR; kxeu  d k fu ;e  

(2) p ;f ur xq . kks a d k  f l) kU r 

(3) e kr ` o fir` i{kks a d k f u; e     

(4) l a ;ks x d k fu ;e 

  
12. Sometimes the children of gifted 

parents are born with less intelligence 

than their parents or vice versa, 

which Law of Heredity is called ? 

(1) Law of Regression 

(2) Law of Selective Traits 

(3) Law of Maternal and Paternal 

Lines 

(4) Law of Chance 

13. fu Eu fyf [k r e sa ls d kS u-lh  v a re q Z [k h lk s p 
çd kj O; fDrR o d h fo'ks " krk  gS \ 
 

(1) ;F kk F kZ o knh v kS j O;k ogkf jd   

(2) v iuh  c kS f ) d  [k ks t es a yh u 

(3) rF ;k s a d s l kF k fl ) kUr d k le F kZ u 

(4) v ius fo pk jk s a d ks v k xz g v k S j n` <+ r k ls 
çpk fjr d juk  

  
13. Which of the following is the 

characteristic of introverted thinking 

type personality ? 

(1) Realistic and Practical  

(2) Absorbed in his own intellectual 

pursuit 

(3) Supports theory with facts 

(4) Propagates his views with 

insistence and vehemence 

14. fu Eu fyf [k r esa ls dk S u-l h , d  ts El ykU ts 
^^ l a os x fl ) kUr** } kjk çnÙ k  l ghl ghl ghl gh  Ü k à [ kyk  
gS \ 

(1) ifjfLF k fr → 'kk jh fjd  v 'k ka f r → 

e ku fld  f LF kfr 

(2) ifjfLF k fr → e ku fld   f LF kfr → 

'k kjhfjd  v fH k O; fDr 

(3) ifjfLF k fr → 'k kjhf jd  v fH kO; fDr → 

e ku fld  f LF kfr     

(4) ifjfLF k fr → e ku fld  fLF kf r  → 

'k kjhfjd  v 'kk a fr 

  
14. Out of the following which is correct 

sequence given by James Lange's 

"Theory of  Emotions" ? 

(1) Situation → Bodily disturbance 

→ Mental state 

(2) Situation → Mental state → 

Bodily expressions 

(3) Situation → Bodily expressions 
→ Mental state    

(4) Situation → Mental state → 

Bodily disturbance 
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15. fu Eu fyf [k r e s a ls d kS u-lh  ,d  v Ur nZ ` f"V 
d h  f o'k s "kr k ug haug haug haug ha  gS \ 
(1) v k d fLe d rk   
(2) u oh u ifjfLF k fr e s a v uq fØ ; k 
(3) v k nr cy 
(4) v u q fØ ; k d k lgtr k ls gks uk  

  15. Out of the following which one is 

not the characteristic of insight ? 

(1) Incidental 

(2) Response in novel situation 

(3) Habit strength 

(4) Response spontaneity 

16. fu Eu fyf [k r esa ls d kS u-lh  , d  l` tu kRed rk 
d h  v o LF kk  xks M Zu us viuh lk bu s fV Dl 
r d uh d  es a çf rikf nr u ghau ghau ghau gha   d h gS \ 
 
(1) l a yXu rk v UrH kkZf or k 
(2) l eku  oLr q d h [k ks t 
(3) LF k xu     
(4) l a d Yiu k fu ek Z .k 

  16. Out of the following which one           

is not the stage of creativity 

prescribed by Gordon in his 

Synectics Technique ? 

(1) Detachment involvement 

(2) Finding something similar 

(3) Deferment 

(4) Concept formation 

17. fu Eu fyf [k r es a ls d k S u-l h ,d  f o'ks " kr k  
çfrH kk'k kyh  c Ppks a d h n` f"V l s m i; q Dr u ghau ghau ghau gha 
gS \ 
(1) r s th ls v kS j v klk uh  l s l h[ kr s gS aA 
(2) dfBu ekufld dk;ks± dks çnf'kZr djrs gSaA 
(3) c gq r çd kj d h t kud kfj; k¡ j[k rs gS a 

f tud s ck js es a T;k nk rj c Pps t kx:d 
u gh a gk s rs gS aA 

(4) t ks d q N mU gk s a us lq u k ; k i< + k gS m ls 
c jd jkj j[k us d s fy , m Ugs a c gq r v H ;k l  
d h  vk o'; d r k gk s rh  gSA 

  17. Out of the following which one 

characteristic not suits to gifted 

children ? 

(1) Learn rapidly and easily. 

(2) Perform difficult mental task. 

(3) Knows about many things of 

which most of the students are 

unaware. 

 

(4) Much drill is required to retain 

what he/she has heard or read. 

18. o ;% la f/k  v o LF kk  d k  vk ;q fo Lrk j D;k gks r k  
gS \ 
(1) 10 ls 12 o "kZ 
(2) 6 ls 12 o "k Z 
(3) 11 ls 16 o "kZ     
(4) 8 ls 10 o "k Z 

  18. What is the age range of puberty 

stage ? 
(1) 10 to 12 years 
(2) 6 to 12 years 
(3) 11 to 16 years    
(4) 8 to 10 years 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


[ A ] [ 8 ] 

Level-2/202   

19. fu Eu fyf [k r e s a l s dkS u-lk , d  cq f )  ds 
fu "iknu ijh{k. k  d k  çd k j u gh au gh au gh au gh a  gS \ 
 

(1) v k ehZ v YQ k  ijh{k .k  

(2) d k s g d k  CykWd  f Mtk bu ijh{k. k 

(3) ? ku fu ek Z . k/jpu k ijh {k. k 

(4) ikl  , yk W Ux ijh{k. k  

  19. Out of the following which one is 

not the type of performance test of 

intelligence ? 

(1) Army alpha test 

(2) Koh's block design test 

(3) The cube construction test 

(4) The pass along test 

20. th u f i; kts d s v uq l kj cPp k fd l v k;q 
o xZ es a v e wr Z rd Z fod f lr d jr k gS \ 
 

(1) 6 ls 8 o "kZ 

(2) 8 ls 10 o "k Z 

(3) 7 ls 9 o "kZ     

(4) 11 ls 14 o "kZ  

  20. According to Jean Piaget between 

which age the child develops 

abstract reasoning ? 

(1) 6 to 8 years 

(2) 8 to 10 years 

(3) 7 to 9 years    

(4) 11 to 14 years 

21. ; g fd lu s d gk F kk fd  ^^, d  O; fDr ml h 
v u qik r es a c q f)e ku gks r k gS ftr uk og 
vewrZ :i ls fpUru dh {kerk j[krk gS** \ 

(1) V eZ u  

(2) f M; jc kW u Z 

(3) c fd a ? ke  

(4) d k yf ou 

  21. Who stated that "An individual is 

intelligent in proportion as he is able 

to carry on abstract thinking" ? 

(1) Terman  

(2) Dearborn 

(3) Buckingham  

(4) Calvin 

22. c Ppks a d s H khr j N q is lk aos f xd  ? kq V u ,oa 
'kf Dr ; ks a d k s ck gj fud kyus d h  çfØ ; k d ks 
D;k  d gr s gS a \ 
(1) l ka o s fxd  f LF kjrk  
(2) l ka o s fxd  l a os nu'k hyr k 
(3) l ka o s fxd  f ojs pu     
(4) l ka o s fxd  l ke F ;Z 

  
22. What is the process of releasing the 

hidden emotional suffocation and 

powers inside the children called ? 

(1) Emotional stability 

(2) Emotional sensitivity 

(3) Emotional catharsis 

(4) Emotional competency 
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23. fu Eu fyf [k r esa ls d kS u-l h , d  xfr fo f/ k 
^^ f tKk lk** e wy ço ` fÙ k d ks l ar q "V d jus ds 
fy , m i; q Dr u ghau ghau ghau gha  gS \ 

(1) d {k k v F ko k fo| k y; e sa xkS jo iw . k Z f LF kfr 
çnku  d ju k 

(2) f o| kfF k Z ;ks a d s ç'uk s a d s m Ù kj ns u k 
 

(3) l eL; k lek /kk u     

(4) d {k k es a fopk j&f oe 'kZ 

  
23. Out of the following which one 

activity is not suitable for satisfying 

the instincts curiosity ? 

(1) Awarding positions in the class 

or school 

(2) Answering the questions of the 

students 

(3) Problem solving 

(4) Discussion in class 

24. jks'kk Z L;k gh  /kCc k ijh{k .k  es a f d rus d kMZ 
fu /kk Z fjr gS a \ 

(1) 12 (2) 10 

(3) 30 (4) 31 

  
24. How many cards prescribed in 

Rorschach Ink Block Test ? 

(1) 12 (2) 10 

(3) 30 (4) 31 

25. 'kS f {kd  eu ks fo Kk u ds f ir k d s :i e s a fd ls 
tk uk  t krk  gS \ 

(1) bZ0  , y0  F k kuZM kbd 

(2) is Lrk yk W th 

(3) gcZ V Z 

(4) Ý k W cs y 

  
25. Who is known as father of 

Educational Psychology ? 

(1) E. L. Thorndike 

(2) Pestalozzi 

(3) Herbart 

(4) Froebel 

26. lk s f'k; ks e s fV ª d r d uhd  d k v k fo "d kj fd lus 
fd ;k  F k k \ 

(1) t s0  bZ0  ,. Mjl u 

(2) t s0  ,y0  ek s js u ks 

(3) bZ0  c h0  gjykWd     

(4) t h0  , l0  e kek s Z j 

  
26. Who invented sociometric technique ? 

 

(1) J. E. Anderson 

(2) J. L. Moreno 

(3) E. B. Hurlock 

(4) G. S. Marmor 
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27. , fjDlu d s v uq lk j O ;fDr d s euk sl ke kftd 
fo d k l d h pkSF kh v o LF kk dk S u-l h gS \ 
 
(1) çxk<+ r k c uke  v yxk o 
(2) igpku  c u ke H kw f ed k  l aH kz ka fr 
(3) ifjJe  f ç; r k cu ke  ghu rk     
(4) m Riknu'k hyr k cu ke  fLF kjr k 

  
27. Which is the fourth stage of psycho-

social development of an individual 

according to Erikson ?  

(1) Intimacy v/s isolation 

(2) Identity v/s role confusion 

(3) Industry v/s inferiority 

(4) Generativity v/s stagnation 

28. ^ jkW l * d s vuq lk j fo d kl d h  d k S u-l h 
v o LF kk dks ^feF;k ifjiDork* voLFk k dgk 
tkrk gS \ 
(1) 'k S'k ok oLF k k   
(2) c kY; ko LF kk 
(3) f d 'kk sjk oLF k k 
(4) çkS < + ko LF kk 

  28. According to 'Ross', which stage of 

development is known as 'Pseudo 

Maturity' stage ? 

(1) Infancy 

(2) Childhood 

(3) Adolescence 

(4) Adulthood 

29. tc dks bZ O;fDr vius fopkjksa rFkk fØ;kvksa 
dks fdlh ,s ls nwljs O;fDr ds vuq:i cukuk 
'kq : dj ns rk gS ftldk og vuqdj.k djuk 
pkgrk gS] rks bl çdkj dh fØ;k dkSu-ls 
çdkj dh j{kk ;q fDr dgykrh gS \ 
(1) r knkR ehd j. k 
(2) ç{ks i. k  
(3) v k S fpR ; LF kk iu k     
(4) f oLF k kiu 

  29. When a person tried to make his/her 

thoughts and action according to 

other whom he like to follow, then 

this kind of activity called which 

type of defence mechanism ? 

(1) Identification 

(2) Projection 

(3) Rationalisation 

(4) Displacement 

30. fu Eu fyf [k r e sa ls d k S u-l k c kY;k oLF k k d k 
lk ek U; H kk "k. k  f od k j u gh au gh au gh au gh a  gS \ 
 
(1) Å tk Z d h d eh 
(2) r q ry ku k 
(3) v Li"V m Ppk j. k     
(4) gd yk uk 

  30. Which one of the following is not 

the common speech disorder of 

childhood ? 

(1) Depletion of Energy 

(2) Lisping  

(3) Slurring 

(4) Stuttering 
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HkkxHkkxHkkxHkkx – II (PART – II) 
Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ [ LANGUAGES (HINDI & ENGLISH) ] 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    

31. fdl Hkkookpd laKk dk fuekZ.k 
O;fDrokpd laKk ls gqvk gS \ 

(1) cpiu (2) dS'kks;Z 

(3) ,s'o;Z (4) ekr`Ro 

32. fdl fodYi esa ^ladsrkFkZd* okD;  gS \ 

(1) fiz;re esjk fe= gSA 

(2) ;fn rqe vkvks rks eSa pyw¡A 

(3) gks ldrk gS dy ekSle Bhd gks tk,A 

(4) jkts'k viuk dejk lkQ ð djksA 

33. izR;; dh n`f"V ls fdl 'kCn dh jpuk 
vuqfprvuqfprvuqfprvuqfpr gS \ 

(1) eqjsyk & ,yk 

(2) d¡Vhyk & bZyk 

(3) foyhu & bZu 

(4) llqjky & vky 

34. lekl&foxzg dh n`f"V ls dkSu&lk fodYi 
mfprmfprmfprmfpr gS \ 

(1) gFkdj?kk & gkFkksa ls pyus okyk dj?kk 

(2) Hkqtx & Hkwfe esa tUe ysus okyk 

(3) ns'kHkfDr & ns'k ds }kjk HkfDr 

(4) i'kqcfy & i'kq ds fy, cfy 

35. fuEu esa ls dkSu&lk 'kCn ^vuq* milxZ ls 
fufeZr ughaughaughaugha  gS \ 
(1) vkuqikfrd (2) vuqnkÙk 

(3) vuwfnr (4) vuqjatd 

36. fuEu esa ls fdl fodYi dk dFku xyrxyrxyrxyr   
gS \ 

(1) ^_* dk mPpkj.k LFkku ^ew/kkZ* gSA 

(2) folxZ /ofu dh x.kuk ukflD; o.kksZa esa 
dh tkrh gSA 

(3) ^;* vkSj ^o* dks v/kZ Loj Hkh dgk 
tkrk gSA 

(4) ^M+* vkSj ^<+* mfR{kIr o.kZ dgykrs gSaA 

37. fdl fodYi ds lHkh 'kCn fons'kt gSa \ 

(1) yktokc] e'khu] iou 

(2) dkjhxj] vfr'k;ksfDr] dgkuh 

(3) eqefdu] veweu] i{kokj 

(4) fdLlk] Ldwy] geyk 

38. i;kZ;okph 'kCnksa ds lanHkZ esa vlaxrvlaxrvlaxrvlaxr fodYi 
pqfu, % 

(1) thHk & okpk] jluk] ok.kh 

(2) vgadkj & naHk] niZ] en 

(3) fdj.k & jf'e] e;w[k] izHkk 

(4) dkSvk & fiz;d] e/kqnwr] vfrlkSjHk 
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39. fdl okD; esa ifjek.kokpd fo'ks"k.k dk 
iz;ksx gqvk gS \ 

(1) eSa uhyh deht ugha igurkA 

(2) bl ckj ckfj'k esa cgqr vksys fxjsA 

(3) [ksy dk eSnku yEck gSA 

(4) fnus'k vPNk xk;d gSA 

40. ^foifÙk ds le; FkksM+h lgk;rk Hkh cM+h 
gksrh gS* mDr Hkko dh O;atd yksdksfDr 
pqfu, % 

(1) Mwcrs dks fruds dk lgkjk 

(2) pqiM+h vkSj nks&nks 

(3) pkj fnu dh pk¡nuh fQj v¡/ksjh jkr 

(4) vke ds vke xqBfy;ksa ds nke 

41. fdl okD; esa loZuke lacaf/kuh v'kqf)v'kqf)v'kqf)v'kqf) gS \ 

(1) rqEgkjh iqLrd ;g ugha og gSA 

(2) eSa viuk dk;Z dj jgk gw¡A 

(3) ftlus Hkh [kk;k gS] ljkgk gSA 

(4) esjs dks dqN Hkh ;kn ugha vk jgkA 

42. foykse 'kCn dh n`f"V ls vuqfprvuqfprvuqfprvuqfpr ;qXe 
igpkfu, % 

(1) cn & usd 

(2) nq'pfj= & fu'pfj= 

(3) foLr`r & laf{kIr 

(4) e/kqj & dVq 

43. fØ;k ds laca/k esa dkSu&lk ;qXe vuqfprvuqfprvuqfprvuqfpr   
gS \ 
(1) fHk[kkjh lM+d ij fpYyk jgs FksA &  

vdeZd fØ;k 
(2) jk/kk ';ke dks i= fy[krh gSA &  

f}deZd fØ;k 
(3) cxhps esa eksj ukp jgk gSA &  

     ldeZd fØ;k 
(4) og fo|ky; ls vkdj [kkuk [kk,xkA&  

iwoZdkfyd fØ;k 

44. fdl fodYi esa laf/k&foPNsn vuqfprvuqfprvuqfprvuqfpr gS \ 

(1) cfgjsdrk = cfg% $ ,drk 

(2) vk'khoZpu = vk'kh% $ opu 

(3) jfrja'k = jfr% $ ja'k 

(4) ri'p;kZ = ri% $ p;kZ 

45. fuEu esa ls fdl eqgkojs dk vFkZ laxr ughaughaughaugha 
gS \ 

(1) ugys ij ngyk ekjuk &  

djkjk tokc nsuk 

(2) cÙkhlh can gksuk & pqi gks tkuk 

(3) flj dk ilhuk ik¡o rd vkuk &  

dfBu ifjJe djuk 

(4) Fkkyh dk cSaxu gksuk & loZ lqyHk gksuk 
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vaxzsthvaxzsthvaxzsthvaxzsth (ENGLISH) 

Direction :  Answer the following questions by selecting the most appropriate option.

46. Choose the correct option to fill in 
the blank : 

This pen is both good …….. cheap. 

(1) as well as  

(2) as well 

(3) but only  

(4) and 

47. Select the appropriate preposition to 
fill in the blank : 

His hut is ......... hotel Taj. 

(1) above  

(2) out 

(3) besides 

(4) beside 

48. Choose the correct meaning of the 
underlined words : 

The law and order situation will only 
become worse in the state due to the 
riots, if the government does not do 
something right now to nip it in the 
bud. 

(1) To plan in detail to stop a threat 

(2) To destroy the problem in the 
initial stage only 

(3) To arrest the culprits 

(4) To stop something harmful in 
the initial stage 

49. Select the correct option (Phrasal 
Verb) for the underlined word : 

She rejected his request to take her 
home. 

(1) turned up 

(2) turned down 

(3) turned out 

(4) turned off 

50. Select the appropriate modal to fill 
in the blank : 

Trespassers ……….. be punished. 

(legal notice) 

(1) shall (2) may 

(3) should (4) ought to  

51. Choose the appropriate preposition 
to fill in the blank : 

What is the time ……….. your 
watch ?  

(1) in (2) from 

(3) by (4) on 

52. Select the correct option (Phrasal 
Verb) for the blank left in the 
sentence : 

Cholera has ……….. in this village. 

(1) broken out  

(2) broken down 

(3) broken up  

(4) broken off 
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53. Choose the part of the sentence 
which is incorrect : 

The party president made      

                     (a) 

Rakesh         a M. P. candidate      

   (b)                          (c) 

for the coming election. 

               (d) 

(1) a (2) b 

(3) c (4) d 

54. Choose the part of the sentence 
which is incorrect : 

He did not      keep his words   

      (a)                       (b) 

to pick him up      from WTP. 
         (c)                       (d) 

(1) b (2) c 

(3) d (4) a 

55. Choose the correct tense form to fill 
in the following : 

I had consulted my lawyer before I 
……....... the complaint. 

(1) did lodged (2) had lodged 

(3) lodge (4) lodged  

56. Choose the appropriate modal to fill 
in the blank : 

He ………… listen to the stories of 
his Grand Ma before he slept. 

(Past habit) 

(1) could (2) shall 

(3) would (4) might 

57. Choose the correct meaning of the 
underlined words : 

The hostess broke the ice by 
introducing the strangers to each 
other. 

(1) To make people relax with each 
other 

(2) To make people perplexed with 
each other 

(3) To serve welcome drink to the 
guests 

(4) To start a game of puzzle 

58. Choose the correct tense form to fill 
in the blank : 

Municipality has decided to …......... 
the overhead wires. 

(1) did away with 

(2) do away with 

(3) has done away with 

(4) had done away with 

59. Choose the correct option for the 
following : 

One who wastes a lot of money is : 

(1) frugal (2) recluse 

(3) prodigal (4) reticent 

60. Select the appropriate modal for the 
expression given : 

Harish has annoyed his boss today. 
He ........ be fired soon.  (probability) 

(1) may (2) can 

(3) ought to (4) would 
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HkkxHkkxHkkxHkkx – III (PART – III) 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u (GENERAL STUDIES) 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku (QUANTITATIVE APTITUDE, 

REASONING ABILITY AND G.K. & AWARENESS) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

61. ,d rkj dh yEckbZ 66 ehVj gS] rks bl 
rkj ls cuk, tk ldus okys 1.32 lseh 
ifjf/k ds o`Ùkksa dh la[;k gS % 
 

(1) 1000  

(2) 50 

(3) 500  

(4) 5000 

  
61. The length of a wire is 66 metre, 

then the number of circles of 
circumference 1.32 cm that can be 
made from the wire is : 

(1) 1000  

(2) 50 

(3) 500  

(4) 5000 

62. 140 ehVj yEch jsyxkM+h dh pky 
60 fdeh@?k.Vk gS] bls 260 ehVj yEcs 
IysVQkWeZ dks ikj djus esa fdruk le; 
yxsxk \ 

(1) 18 lsd.M  

(2) 24 lsd.M  

(3) 30 lsd.M  

(4) 32 lsd.M 

  
62. A train 140 metre long is running at 

60 km/hour. How much time will it 
take to pass a platform 260 metre 
long ? 

(1) 18 sec  

(2) 24 sec 

(3) 30 sec  

(4) 32 sec 

63. ,d diM+k foØsrk 33 ehVj diM+k cspdj] 
11 ehVj diM+s ds fcØh ewY; ds cjkcj 
ykHk izkIr dj ysrk gS] rks mldk ykHk 
izfr'kr gS % 

(1) 11%  

(2) 22% 

(3) 50%  

(4) 40% 

  
63. A cloth merchant on selling 33 metre 

of cloth obtains a profit equal to the 
selling price of 11 metre of cloth. 
The profit percentage is : 

(1) 11%  

(2) 22% 

(3) 50%  

(4) 40% 
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64. ;fn 4 iq#"k ;k 6 efgyk,¡ ,d dk;Z dks 7 
?k.Vs izfrfnu dk;Z djds 12 fnuksa esa dj 
ldrs gSa] rks mlh dk;Z ls nqxquk cM+k dk;Z 
10 iq#"k rFkk 3 efgyk,¡ 8 ?k.Vs izfrfnu 
dk;Z djds fdrus fnuksa esa iwjk dj ldsaxs \ 
 
(1) 6 (2) 7 
(3) 8 (4) 9 

  
64. If 4 men or 6 women can do a piece 

of work in 12 days working 7 hours 
a day. How many days will it take to 
complete a work twice as large with 
10 men and 3 women working 
together 8 hours a day ? 

(1) 6 (2) 7 
(3) 8 (4) 9 

65. ;fn 
21

1

+

=x  gks] rks 322
++ xx  

dk eku gS % 
(1) 0 (2) 1 
(3) 4 (4) 2 

  
65. If 

21

1

+

=x , then the value of 

322
++ xx  is : 

(1) 0 (2) 1 
(3) 4 (4) 2 

66. fuEu v{kj Js.kh dk vxyk in gksxk % 
 
 CAE, HFJ, MKO, RPT, …. 

(1) UTY (2) WUY 
(3) VUZ (4) WUZ 

  
66. The next term of the following letter 

series will be : 

 CAE, HFJ, MKO, RPT, …. 

(1) UTY (2) WUY 
(3) VUZ (4) WUZ 

67. ik¡p O;fDr;ksa A, B, C, D rFkk E esa] A, 
B ls NksVk ysfdu E ls yEck gS] C lcls 
yEck gS] D, B ls NksVk gS ysfdu A ls 
yEck gS] rks buesa ls dkSu lcls NksVk gS \ 
 

(1) B (2) A 
(3) D (4) E 

  
67. Among five persons A, B, C, D and 

E, A is shorter than B but taller than 
E. C is the tallest. D is shorter than B 
but taller than A. Who among them 
is shortest ? 

(1) B (2) A 
(3) D (4) E 

68. ,d leprqHkqZt dk ifjeki 100 lseh gS 
vkSj mldk ,d fod.kZ 40 lseh gS] rks 
mldk {ks=Qy gS % 

(1) 300 lseh 2  

(2) 600 lseh 2 

(3) 780 lseh 2  

(4) 900 lseh 2 

  
68. The perimeter of a rhombus is 

100 cm and one of its diagonal is 40 
cm. Then its area is : 

(1) 300 cm2  

(2) 600 cm2 

(3) 780 cm2  

(4) 900 cm2 
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69. nks feJ/kkrq rk¡cs rFkk fVu ls cus gSa igyh 
feJ/kkrq esa rk¡ck rFkk fVu dk vuqikr 1 : 3 
gS rFkk nwljs esa vuqikr 2 : 5 gSA bu nksuksa 
feJ/kkrqvksa dks fdl vuqikr esa feyk;k tk,] 
rkfd ubZ feJ/kkrq esa rk¡cs rFkk fVu dk 
vuqikr 3 : 8 gks tk, \ 
 
(1) 3 : 5  

(2) 4 : 9 
(3) 4 : 7  

(4) 3 : 8 

  
69. Two alloys are both made up of 

copper and tin. The ratio of copper 
and tin in the first alloy is 1 : 3 and 
in second alloy is 2 : 5. In what ratio 
should two alloys be mixed, to 
obtain a new alloy such that the ratio 
of copper and tin be 3 : 8 ? 

(1) 3 : 5  

(2) 4 : 9 
(3) 4 : 7  

(4) 3 : 8 

70. A us dgk ^^og yM+dk esjh ekrkth ds ifr 
dk ikS= gS] esjk dksbZ HkkbZ vFkok cfgu ugha 
gSA** yM+dk] A ls fdl izdkj lEcfU/kr gS \ 
(1) pkpk  

(2) iq= 
(3) Hkrhtk  

(4) ppsjk HkkbZ 

  
70. A said "that boy is the grandson of 

my mother's husband. I have no 
brother or sister." How is the boy 
related to A ? 

(1) Uncle  

(2) Son 
(3) Nephew  

(4) Cousin 

71. fuEu Js.kh esa xyrxyrxyrxyr  la[;k Kkr dhft, % 
 
 135, 226, 353, 552, 739 

(1) 353  

(2) 226 
(3) 552  

(4) 739 

  
71. Find the wrong number in the 

following series :  

 135, 226, 353, 552, 739 

(1) 353  

(2) 226 
(3) 552  

(4) 739 

72. ` 5,000 ij 12% okf"kZd C;kt dh nj ls 
2 o"kZ ds lk/kkj.k C;kt ,oa pØo`f) C;kt 
esa vUrj gksxk % 
 
 

(1) ` 72  (2) ` 84 

(3) ` 96 (4) ` 36 

  
72. The difference between simple 

interest and the compound interest 
compounded annually at the rate of 
12% per annum on ` 5,000 for two 
years will be : 

(1) ` 72  (2) ` 84 

(3) ` 96 (4) ` 36 
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73. nks la[;kvksa dk ;ksx 520 gS] ;fn muesa ls 
cM+h la[;k dks 4% de dj fn;k tk, 
vkSj NksVh dks 12% c<+k fn;k tk,] rks 
izkIr la[;k,¡ cjkcj gksaxh] rks muesa ls 
NksVh la[;k gS % 
 

(1) 210 (2) 240 

(3) 270 (4) 300 

  
73. The sum of two numbers is 520. If 

the bigger number is decreased by 
4% and the smaller number is 
increased by 12%, then the obtained 
numbers are equal, then smaller 
number is : 

(1) 210 (2) 240 

(3) 270 (4) 300 

74. fuEufyf[kr Js.kh esa xyrxyrxyrxyr in Kkr   
dhft, % 
 G4T, J9R, M20P, P41N, S90L 

(1) J9R (2) M20P 

(3) P41N (4) S90L 

  
74. Find the wrong term of the following 

series :  

 G4T, J9R, M20P, P41N, S90L 

(1) J9R (2) M20P 

(3) P41N (4) S90L 

75. ,d ?kukHk dh yEckbZ] pkSM+kbZ ,oa xgjkbZ 
dk ;ksx 19 lseh gS] rFkk blds eq[; 
fod.kZ dk eki 55  lseh gS] rks bldk 
i`"Bh; {ks=Qy gS % 

(1) 361 lseh 2  

(2) 286 lseh 2 

(3) 236 lseh 2  

(4) 340 lseh 2 

  
75. The sum of length, breadth and 

depth of a cuboid is 19 cm and its 
principal diagonal is 55 cm, then 
its surface area is : 

(1) 361 cm2  

(2) 286 cm2  

(3) 236 cm2  

(4) 340 cm2 

76. ;fn ,d O;fDr 8 fdeh nf{k.k esa tkdj 
nk;ha rjQ eqM+dj 8 fdeh tkrk gS] iqu% 
ck;ha vksj eqM+dj 10 fdeh pyrk gS] rks 
og 'kq#vkrh fcUnq ls fdl fn'kk esa gS \ 
 

(1) iwoZ&nf{k.k  

(2) mÙkj&iwoZ 

(3) mÙkj&nf{k.k  

(4) nf{k.k&if'pe 

  
76. If a person walks 8 km towards 

South then turns right and walks 
8 km, again turns left and walks 
10 km. In which direction is he from 
starting point ? 

(1) East-South  

(2) North-East 

(3) North-South  

(4) South-West 
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77. yM+dksa dh ,d iafDr esa] A ck;ha rjQ ls 
15osa rFkk B nk;ha rjQ ls pkSFks LFkku ij 
gS] ,oa A rFkk B ds e/; rhu yM+ds gSa] 
C, A ds ,dne ck;ha vksj gS] rks C dh 
fLFkfr nk;ha vksj ls D;k gS \ 

(1) 9oha  

(2) 10oha 

(3) 12oha  

(4) 13oha 

  
77. In a row of boys, A is 15th from the 

left and B is fourth from the right. 
There are three boys between A and 
B, C is first left of A. What is the 
position of C from the right ? 

(1) 9th  

(2) 10th 

(3) 12th  

(4) 13th 

78. ,d O;fDr iwoZ dh vksj 2 fdeh pyrk gS 
fQj og nf{k.k fn'kk esa eqM+dj 1 fdeh 
pyrk gS fQj og iwoZ fn'kk esa eqM+dj 2 
fdeh pyrk gS] mlds ckn og mÙkj fn'kk 
esa eqM+dj 4 fdeh pyrk gSA vc og 
izkjfEHkd fcUnq ls fdruh nwj [kM+k gS \ 

(1) 5 fdeh  

(2) 6 fdeh 

(3) 3 fdeh  

(4) 4 fdeh 

  
78. A person walks 2 km towards East 

and then he turns to South and walk   
1 km. Again he turns to East and 
walks 2 km after that he turns to 
North and walk 4 km. Now how far 
is he from his starting point ? 

(1) 5 km  

(2) 6 km 

(3) 3 km  

(4) 4 km 

79. ;fn W = 23, STRONG = 93, rks 
WEAK cjkcj gS % 

(1) 40 (2) 41 

(3) 43 (4) 44 

  
79. If W = 23, STRONG = 93, then 

WEAK is equal to : 

(1) 40 (2) 41 

(3) 43 (4) 44 

80. ;fn 5
3

1
5 =+

a

a , rks 
2

2

25

1
9

a

a +  dk 

eku gS % 

(1) 
5

51
 (2) 

5

29
 

(3) 
5

52
 (4) 

5

39  

  

80. If 5
3

1
5 =+

a

a , then the value of 

2
2

25

1
9

a

a +  is : 

(1) 
5

51
 (2) 

5

29  

(3) 
5

52
 (4) 

5

39  
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81. efgyk f[kykM+h dks fookg ds volj ij 
^eq[;ea=h fookg 'kxqu ;kstuk* ds rgr nh 
tkus okyh jkf'k gS % 
 

(1) 11,000 #i;s  

(2) 21,000 #i;s 

(3) 31,000 #i;s  

(4) 51,000 #i;s 

  
81. The amount which is given to the 

sports woman on the occasion of 
marriage under 'Mukhyamantri 
Vivah Shagun Yojna' : 

(1) Rs. 11,000  

(2) Rs. 21,000 

(3) Rs. 31,000  

(4) Rs. 51,000 

82. 1857 dh ØkfUr ds uk;d vCnqjZgeku [kk¡ 
lac) Fks % 

(1) cgknqjx<+ ls  

(2) Q#Z[kuxj ls 

(3) >Ttj ls  

(4) ;equkuxj ls 

  
82. The hero of 1857 Revolution 

Abdurrahman Khan was related to : 

(1) Bahadurgarh  

(2) Farrukhnagar 

(3) Jhajjar  

(4) Yamunanagar 

83. Qjojh, 2021 esa vk;ksftr ^36oha jk"Vªh; 
twfu;j ,FkysfVDl pSfEi;uf'ki* esa gfj;k.kk 
jkT; us fdrus Lo.kZ ind thrs \ 
 

(1) 13  

(2) 18 

(3) 21  

(4) 24 

  
83. How many gold medals were won by 

Haryana state in the '36th National 
Junior Athletics Championship', 
which was held in February, 2021 ? 

(1) 13  

(2) 18 

(3) 21  

(4) 24 

84. fuEufyf[kr esa ls dkSu gfj;k.kk ds lokZf/kd 
vof/k ds fy, jkT;iky jgs gSa \ 

(1) ch0 ,u0 pØorhZ  

(2) ,0 vkj0 fdnobZ 

(3) txUukFk igkfM+;k 

(4) dIrku flag lksyadh 

  
84. Who among the following was the 

longest serving Governor of Haryana ? 

(1) B. N. Chakraborty 

(2) A. R. Kidwai 

(3) Jagannath Pahadia 

(4) Kaptan Singh Solanki 
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85. gfj;k.kk lkfgR; vdkneh ds ckjs esa 
v/kksfyf[kr dFkuksa dks if<+, % 

(i) eq[;ea=h vdkneh ds v/;{k ds :i esa 
dk;Z djrs gSaA 

(ii) ^gfjxa/kk* vdkneh dh if=dk gSA 
 

lghlghlghlgh  dwV pqfu, % 
(1) dsoy dFku (i) lgh gS 

(2) dsoy dFku (ii) lgh gS 

(3) u gh (i) vkSj u gh (ii) lgh gS 

(4) nksuksa dFku lgh gSa 

  
85. Read the following statements about 

Haryana Sahitya Academy : 

(i) The Chief Minister serves as the 
President of the academy. 

(ii) 'Harigandha' is the Magazine of 
the academy. 

Choose the correct code : 

(1) Only statement (i) is correct 

(2) Only statement (ii) is correct 

(3) Neither (i) nor (ii) is correct 

(4) Both the statements are correct 

86. ^iapoVh* uked rhFkZLFky gfj;k.kk esa dgk¡ 
fLFkr gS \ 

(1) iyoy esa  

(2) vackyk esa 

(3) gFkhu esa  

(4) cYyHkx<+ esa 

  
86. Where the 'Panchwati' pilgrimage 

site is located in Haryana ? 

(1) In Palwal  

(2) In Ambala 

(3) In Hathin  

(4) In Ballabhgarh 

87. ^fpadkjk iztuu dsUnz* fdl ftys esa fLFkr gS \ 
 

(1) dSFky  

(2) iapdqyk 

(3) fglkj  

(4) fHkokuh 

  
87. In which district the 'Chinkara 

Breeding Centre' is situated ? 

(1) Kaithal  

(2) Panchkula 

(3) Hisar  

(4) Bhiwani 

88. gfj;k.kk dh ea=h ifj"kn~ esa U;wure lnL; 
gks ldrs gSa % 
 

(1) 10 (2) 12 

(3) 14 (4) 06 

  
88. The minimum number of members 

in the Council of Minister of 
Haryana can be : 

(1) 10 (2) 12 

(3) 14 (4) 06 
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89. fuEufyf[kr esa ls dkSu&lk@dkSu&ls ;qXe 
lghlghlghlgh  gS@gSa \ 
(i) jkT; i'kq – dkyk fgj.k 

(ii) ljLorh oU; tho vHk;kj.; – dSFky 

(iii) ukgj oU; tho vHk;kj.; – >Ttj 
 

lghlghlghlgh  dwV dk p;u dhft, % 
(1) dsoy (i)  

(2) (i) vkSj (iii) 

(3) (i) vkSj (ii)  

(4) dsoy (iii) 

  
89. Which of the following pair/pairs 

is/are true ? 

(i) State Animal – Black buck 

(ii) Saraswati Wild Life Sanctuary – 

      Kaithal 

(iii) Nahar Wild Life Sanctuary –   

        Jhajjar 

Choose the correct code : 

(1) Only (i)  

(2) (i) and (iii) 
(3) (i) and (ii)  

(4) Only (iii) 

90. fuEufyf[kr dks lqesfyr dhft, % 
    ukeukeukeuke        LFkkuLFkkuLFkkuLFkku    
(A) chjcy dk jax egy (i) ukjukSy 

(B) vk/;kfRed  
laxzgky; 

(ii) xq#xzke 

(C) pksj xqEcn (iii) ;equkuxj 

(D) lksguk dk fdyk (iv) ikuhir 

dwVdwVdwVdwV : 

 (A) (B) (C)  (D) 

(1) (ii)  (iii)  (iv)  (i)  

(2) (iii)  (iv)  (i)  (ii) 

(3) (iv) (ii) (iii) (i) 

(4) (iii) (ii) (i) (iv) 

  
90. Match the following : 

 Name  Place 

(A) Birbal's Rang 

Mahal 

(i) Narnaul 

(B) Spiritual Museum (ii) Gurugram 

(C) Chor Gumbad (iii) Yamunanagar 

(D) Sohna Fort (iv) Panipat 

Code : 

 (A) (B) (C)  (D) 

(1) (ii)  (iii)  (iv)  (i)  

(2) (iii)  (iv)  (i)  (ii) 

(3) (iv) (ii) (iii) (i) 

(4) (iii) (ii) (i) (iv) 
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HkkxHkkxHkkxHkkx – IV (PART – IV) 

vaxzsthvaxzsthvaxzsthvaxzsth    (ENGLISH) 

Direction :  Answer the following questions by selecting the most appropriate option. 

91. The word "Weird" in the story 'A 
Gift of Chappals' mean : 

(1) Sweet 

(2) Malicious 

(3) Orthodox 

(4) Strange 

92. Who's the author of the story, "Three 
questions" ? 

(1) Leo Tolstoy 

(2) Ruskin Bond 

(3) H. G. Wells 

(4) Graham Greene 

93. Fill in the blank with the correct 
conjunction : 

It is ………….. useful ………….. 
ornamental. 

(1) Whether, or 

(2) Both, or 

(3) Neither, nor 

(4) Either, but also 

94. Fill in the blank with the correct 
phrasal verb : 

The car ………….. when we were 
driving through the desert. 

(1) Broke down 

(2) Break out 

(3) Broke off 

(4) Break in 

95. Which of the following is spelt 
correctly ? 

(1) Enterttainment  

(2) Enviroonment 

(3) Juxtaposition 

(4) Numerologgy 

96. The story, 'A Different Kind of 
School' talks about : 

(1) Below Average Kids 

(2) Differently Abled 

(3) Meritorious Kids 

(4) None of the above 

97. Identify the phonetic symbol of the 
underlined sounds : 

gun come luck 

(1) ^ (2) ∂ : 

(3) µ : (4) ⊃ 

98. Choose the correct antonym of the 
word 'Benign' : 

(1) Malign 

(2) Gentle 

(3) Kind 

(4) Mild 
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99. Fill in the blank with the correct 
modal : 

He …………….. not enter my house 
again. (command) 

(1) Shall 

(2) May 

(3) Might 

(4) Should 

100. Which of the word is incorrectly 
formed in plural ? 

(1) Scarves 

(2) Dwarves 

(3) Handkerchiefs 

(4) Loavfs 

Direction : Read the following poem     
and answer the questions given below     
(Q. Nos. 101-106) : 

A silly young cricket, accustomed to sing 
through the warm, sunny months of gay 
summer and spring, 

Began to complain when he found that, at 
home,  

His cupboard was empty, and winter was 
come.  

Not a crumb to be found  

on the snow-covered ground : 

Not a flower could he see, 

Not a leaf on a tree. 

"Oh ! what will become, "Says the cricket, 
"of me ?" 

At last by starvation and famine made bold, 
All dripping with wet, and all trembling 
with cold  

Away he set off to a miserly ant, 

To see if, to keep him alive, he would grant  

Him shelter from rain 

And a mouthful of grain 

He wished only to borrow; 

He'd repay it tomorrow;     

If not, he must die of starvation and 
sorrow. 

101. What does the word "crumb" mean 
in the poem ? 

(1) A small piece of bread 

(2) A little stick 

(3) A protected area 

(4) Something inedible 

102. What did the cricket complain of  ? 

(1) The warm sunny days 

(2) The empty cupboards 

(3) The boring surroundings 

(4) Not able to sing 

103. Pick out the word which means, 
"Severe suffering due to a lack of 
Nutrition" : 

(1) Trembling 

(2) Miserly 

(3) Starvation 

(4) Complain 
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104. For what did the cricket go to ant ? 

(1) To give him food 

(2) To give flowers and leaf on tree 

(3) To protect himself from sun 

(4) Shelter from rain and mouthful 
of grain 

105. A story with animals as characters, 
that conveys a moral is called : 

(1) A Lyric (2) A Fable 

(3) An Anecdote (4) A Novel 

106. The coming of 'which weather' made 
the cricket 'complain' ? 

(1) Winter (2) Spring 

(3) Summer (4) Autumn 

107. Identify the figure of speech in the 
following lines : 

"The Moan of doves in immemorial 
elms and murmuring of innumerable 
bees." 

(1) Alliteration 

(2) Assonance 

(3) Onomatopoeia 

(4) Simile 

108. How old was Evelyn when she went 
to the Royal Academy of Music ? 

(1) Seventeen 

(2) Twenty Two 

(3) Nineteen 

(4) Thirteen 

109. Fill in the blank with the correct 
article : 

I went to ………….. Church to see 
the Golden statue of Jesus Christ. 

(1) The  

(2) A 

(3) An 

(4) Zero article 

110. Identify the poet of the poem 
'Vocation' from the choices given 
below : 

(1) Rabindranath Tagore 

(2) William Wordsworth 

(3) Sarojini Naidu 

(4) John Keats 

111. Match the phrases in Column A with 
their meaning in Column B : 

 A  B 

(i) Broke out (a) was not able 
to tolerate 

(ii) In accordance 
with 

(b) began 
suddenly in a 
violent way 

(iii) A Helping 
hand 

(c) assistance 

(iv) Could not 
Stomach 

(d) acc. to a 
particular 
rule, principle 
or system 

(1) i-b, ii-d, iii-c, iv-a 

(2) i-a, ii-b, iii-c, iv-d 

(3) i-d, ii-c, iii-b, iv-a 

(4) i-b, ii-c, iii-d, iv-a 
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112. "Every year on the occasion of Eid, 

there was a fair in our village." 

These lines occur in which story ? 

(1) A Game of Chess 

(2) Eid Celebrations 

(3) Village Fair 

(4) A Game of Chance 

113. Identify the correct sentence pattern 

of the given sentence : 

They elected him chairman. 

(1) S + V + O + C 

(2) S + V + O + O 

(3) S + V + C + C 

(4) S + O + O + C 

114. Identify the underlined word in the 

sentence : 

We met a girl carrying a basket of 

flowers. 

(1) Noun 

(2) Participle 

(3) Gerund 

(4) Infinitive 

115. Fill in the blank with the correct 

option : 

India is a noble, generous land, 

teeming ……………. natural wealth. 

(1) On  (2) With  

(3) For (4) At 

116. Identify the underlined part of 
speech in the following sentence : 

The moral law is above the civil.  

(1) Adverb 

(2) Preposition 

(3) Noun 

(4) Adjective 

117. The Magistrate was a man with a 
kindly nature.  

Identify the underlined phrase. 

(1) Noun phrase 

(2) Adverb phrase 

(3) Adjective phrase 

(4) Participle phrase 

118. Identify the phonetic symbol of the 
underlined sounds : 

Thin,   Method,  Author 

(1)  θ  (2) t∫ 

(3) F (4) ^ 

119. Where was Kalpana Chawla born ? 

(1) Karnal (2) Sonipat 

(3) Ambala (4) Gurugram 

120. Choose the correct option for the 
underlined modal : 

We should go on a holiday. 

(1) Suggestion 

(2) Permission 

(3) Ability 

(4) Necessity  
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121. Name the poem that talks about 

making choices and the choices that 

shape us : 

(1) The Road not taken 

(2) Wind 

(3) The Lake isle of Innisfree 

(4) Rain on the Roof 

122. Fill in the blank with correct 

determiner : 

I have quite ………….. books on art.  

(1) Little (2) A few 

(3) The (4) This 

123. Convert the following positive 

sentence into comparative sentence : 

This knife is not as sharp as that one. 

(1) This knife is sharper than that 

one. 

(2) This knife is sharper. 

(3) That knife is sharpest of all. 

(4) This knife is more sharper than 

that one. 

124. Fill in the blank with the correct 

preposition : 

There was a beautiful lake 

……………… us in the valley. 

(1) Below 

(2) Into 

(3) Over 

(4) With 

125. Identify the grammatically correct 

sentence :  

(1) All the passengers, with the 

driver, is killed in the accident. 

(2) All the passengers, with the 

driver, be killed in the accident. 

(3) All the passengers, with the 

driver, were killed in the 

accident. 

(4) All the passengers, with the 

driver, was killed in the 

accident. 

126. The correct synonym of the word 

'Innocuous' is : 

(1) Nocuous 

(2) Harmless 

(3) Toxic 

(4) Harmful 

127. "My Childhood" is an extract from : 

(1) My family 

(2) The solar system 

(3) My Ambition 

(4) Wings of fire 

128. What does the phrase, "Hue and cry" 

mean ? 

(1) To be kind 

(2) To Hit someone 

(3) Angry protest 

(4) Welcome gesture 
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129. What did the writer find in the secret 

drawer in the story, "The Best 

Christmas Present in the World" ? 

(1) A Necklace 

(2) Jim's Last Letter 

(3) Jim's autobiography 

(4) A pen 

130. The story, 'A visit to Cambridge' is a 

meeting between : 

(1) Firdaus Kanga and Issac Newton 

(2) Stephen Hawking and Marie 

Curie 

(3) Stephen Hawking and Firdaus 

Kanga 

(4) Henry James and William Chang 

131. Taro in the story, "Taro's Reward"   

is a : 

(1) Woodcutter  

(2) Painter 

(3) Magician  

(4) Gatekeeper 

132. The antonym of the word 'Triumph' 

is : 

(1) Success 

(2) Conquest 

(3) Win 

(4) Defeat 

133. Match the words and phrases in 

Column A & B : 

 A  B 

(i) Homesick (a) Terrible 

(ii) Ghastly (b) In pain 

(iii) Gradually (c) Wanting to 

be home 

(iv) Painfully (d) Slowly 

(1) i-d, ii-c, iii-b, iv-a 

(2) i-c, ii-a, iii-d, iv-b 

(3) i-a, ii-b, iii-c, iv-d 

(4) i-b, ii-a, iii-c, iv-d 

134. Fill in the blank with appropriate 

modal : 

When I was young I ……………. 

climb any tree in the forest. (Past 

ability). 

(1) Could 

(2) Can 

(3) Might 

(4) May 

135. Fill in the blank with the correct 

option : 

The report must be read ………….. 

so that the performance can be 

improved.  

(1) Sorrowfully 

(2) Awfully 

(3) Mischievously 

(4) Carefully 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 [ 29 ] [ A ] 

Level-2/202  P. T. O. 

136. Why does Jody want to bring the 

fawn home ? 

(1) To beat it 

(2) To raise it 

(3) To gift it to his friend 

(4) To show his father his bravery 

137. Write the Synonym of the word 

"Benevolent" : 

(1) Malevolent 

(2) Harsh 

(3) Altruistic 

(4) Traitor 

138. Fill in the blank with correct 

preposition : 

Most people work …………….. 

nine to five. 

(1) Since 

(2) At 

(3) For 

(4) From 

139. A poem of 14 lines is called : 

(1) An Elegy 

(2) An Epic 

(3) An Allegory 

(4) A Sonnet 

140. "The bicycle goes easily enough in 

the morning and a little stuffy after 

lunch." The remark is : 

(1) Humiliating  

(2) Humorous 

(3) Sarcastic 

(4) Pinching 

141. Fill in the blank with the correct 
option :  

Thieves broke ……………. my 
house. 

(1) Into (2) At 

(3) Onto (4) Under 

142. Put the verb in the correct form :                
It …………….  since early morning. 

(1) has been raining 

(2) have been raining 

(3) had rained  

(4) is been raining 

143. Complete the blank phrase with a 
suitable word : 

A …………….. of ships. 

(1) Fleet (2) Bundle 

(3) Pack (4) Herd  

144. Which of the following is not a 
Collective Noun ? 

(1) Fleet (2) Crowd 

(3) Army (4) Childhood 
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145. Name the writer of the story, "The 
Banyan Tree" : 

(1) William James 

(2) Anna Hathway 

(3) E.V. Lucas 

(4) Ruskin Bond 

146. Transform the following into a 
negative sentence : 

Only a fool could have done it. 

(1) Nobody other than a fool will do 
it. 

(2) None but a fool could have done 
it. 

(3) Not a fool is going to do it. 

(4) None, not only a fool could do 
it. 

147. Early man was frightened of what in 
the chapter, "Fire, Friends and Foe" ? 

(1) Lightning and Volcanoes 

(2) Fire 

(3) Rain and Thunderstorm 

(4) Animals 

 

 

 

 

 

 

 

 

148. Choose the sentence which is 
grammatically correct ? 

(1) Between you and me, Mr 
Sharma is not to be trusted. 

(2) Between you and I, Mr Sharma 
is not to be trusted. 

(3) Between I and me, Mr Sharma is 
not to be trusted. 

(4) Between you and you, Mr 
Sharma is not to be trusted. 

149. Who is the poet of the poem, "The 
School Boy" ? 

(1) William Blake 

(2) William Wordsworth 

(3) William Henry 

(4) William James 

150. Which of the following is spelt 
correctly ? 

(1) Conoiseur 

(2) Conooiseur 

(3) Connoisseur 

(4) Conoisseur 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV 
iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys [kkus 
dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr ekuk 
tk,xkA 

  
6. Answers   to  questions  in answer sheet are  to  be  

given by darkening complete circle using Black ball 
point pen as shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given 
below : 

�    �    �    � 

If you fill more than one circle it will be treated as a 

wrong answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx 
fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu 
ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer 

Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa 
fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the 

Answer Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr 
dks NksM+dj½ nwljh nwljh nwljh nwljh iz'uiz'uiz'uiz'u    iqiqiqiqfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates should write the correct 

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] 
istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA (Candidates are 

not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or 

any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on demand 

his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh 
vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk 
ekeyk ekuk tk,xkA OMR    mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij lHkhlHkhlHkhlHkh    vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu''''kkukkukkukku    yyyyxk;k tkuk gSA xk;k tkuk gSA xk;k tkuk gSA xk;k tkuk gSA vaxwBs dk vaxwBs dk vaxwBs dk vaxwBs dk 
fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh 
cgqr deA cgqr deA cgqr deA cgqr deA (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the 

Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart 

second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All 

candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which 

should be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr 
lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their 

conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys 
tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the 

Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
 

� � 
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